
CONSORZIO ISOLE DEI CICLOPI 

INDICI ECONOMICI AL 31/12/2016 

 

 

1) ROE = _____VES____    = __602_  =  0,049 

  CAP. PROPRIO        12.050 

  (RITORNO INVESTIMENTO) 

2) ROI = ______R.OP________ = ___5.726__ = 0,019 

          CAP. INVESTIMENTO         297.750 
 (RENDIMENTO INVESTIMENTO) 

 

3) ROS = _RISULTATO OPER.  = _ 5.726_  = 0,164 

                       RICAVO VEND.        34.886 

 
 

4) ROT = _RICAV. VEND._  = __34.886_ = 0,1174 

   CAP. INVEST.          297.750 
 

 

5) INCIDENZA GEST. NON CARATTER. = __VE__ = _602_ = 0,10 

                                                            RIS. OP    5.726 
 

 

6) LEVERAGE = _TOT. IMP._ = _297.750_  = 24,70 

                                    CAP.PROP.        12.050 


